FEIAREHE TR AR S0 —FL—AXE

#AH: 2025418198

B RIE BB N ERE E R RIGHREI—R

BFREB—E

ABH #H 142 2{u 3z AfL 5 613z A 813
1/19 g(;ot?:ﬁ%¥ T8 DiKRO) 3:18.8|5# &) 3:31.8|#1F (1) 3:36.7[%E FEk() 3:385| Atk BE(®) 344380 BR(D 3485(BFEEZ() 4042|AF BN 4:08.7
KiEHTES B -EH/M KigHI45 - ERAR/D WAVE = I ERfEREE TR —+ AREf T - B/
1/19 gaizﬁ%? FREARTQ)  3124|LLE KEEQ) 3N7A[PR FEQ) 3:19.0[/hMEE =AM (2) 3:237|RF £KQ 3:355|54R  #%(2) 3371[HE BKRQ) 4:05.6|)I| LI2LER(2) 4226
Ry - LS/ BRE-Eodh P 7 R —k KiEHI 15 ERipg T - FE /N = RRET- 4RI/ =AYy P T X1 )—~
1/19 f&?&iﬁ% MR REQ) jg’g%; KATHAZ#(3) 3:46.7|BE[R HEZ(3) 3472|FKi5 BAR) 4:05.7|M/ LFHI=(3) 4059[/NEEKRBAGB)  4125|2F EEQ) 4:14.4(h % —HE(@Q) 4177
BRE B/ T R1)—b FERE T - RSN =Boa=7 KEHIT D P T R1)—b - F/ P T R1)—k
119 |[DFEBT ek mAw 700k ® mA@ 743 B ER@  s04|mAt @ B16|BA 0@  s2dltem BRW sk BE@  908|XE BM@ 943
BREELE EATyYa B -EH/N B -EH/N g7 ') —h =ETaz=7 WAVE'E I WAVE = I
119 |[DESEET gmpmme)  rvo|mmmEAmG) 121[B% ®EG)  741|@ER HERG) 803|BB BE—()  sn3mm BAG) sl EAMG)  s21|HEBMALG) 832
WAVE & I KiEHIED BINRKR—YD #MHWT R —+ =Boa=7 T R)—k T R —~ T R)—h
119 [WESFRT lmm mme  ros|a BHEO) 7171l BKG6)  T26[HIE BReECE) 731 BE EEG) 70|44 E£AE 749\ MEEAENG  751BH EHE 7o
T RY—k WAVE & I A DOAtletica T R —h ERy T - T/ #ET X —h KEHTH5 T R)—k
e |[FEERT yroman 2% Ea w00k mam 00| w0 1054|850 E B 105olE () 1105|Nl ) 1100|FK KB 1119
ER = EN =R Bl S - W -7 =R HRE
1/19 ;ﬁfzﬁ%¥ S BKRQ) 9:36|PAER HA(2) 10:33|5H#  #E(2) 10:39|/MII $AK(2) 10:50| &/ RH(2) 10:58| 54 125%(2) 11:02[3RITTEEZ () 11:06| 2H &3H2) 11:25
BBk - 78 = nE ErE wnE nE - nE
1/19 ;ifﬁ%? BHE 1&%Q) 9:12|&7 FiE®) 9:15|48H &N Q) 9:15|LF RE®) 9:45|2H BRIN3) 9:51|F1E £ 9:54| % fAAK(Q3) 9:55|5k & —ilM3) 10:14
= = =R =R i - P = = =
e [WEATET lym me 20w Axe  [Pme s Plwo sxo O xz wee JOEE 1o sols @850 so|amEzne s
NS =P BIBAXE BIBAXE =P BIBAXE NS BIBAXE
119 ggfﬁ%q‘ *k RE 16:35| E FE AR 16:45| =2 1 18:11
HDH B B HhH B B ERI B K
1/19 ggfﬁﬁ% & =X 16:59|B8 E8A 17:49| B IL=XER 17:58| %8 E 21:26 |58 % — &R 26:07
HhiH B A HhiH B A = RER BNCTRY-Y — F AT
1/19 ggfﬁ%% e 17:30|/KET = 1810/4 1832|@H E— 18:41[sT a2 AR 19:29
BNCTRY-Y BNCTRY-Y BNC7A!-Y BIFE T ME/NK
1/19 ggfui%% =Nl BT 22:32

BNC7A!—-Y




FEVREHETRA L SZA—FL—R KRS

#1R: 202541 A19H

BRRGEENERE RIS EEI—X

RFREBE—E

BB ] ®@H 5 e 5 5 5 o T 5
1/19 ggiﬁﬁt? e FHO) 3:57.1|A/ L&) 4019(R B 1) 409.3|F1& THEEQ) 4:25.2
k- 5 Kigdd 12 T XY —k BT R—k
1/19 gﬁmk; Hit #%02) 3:03.4|FK BF(2) 3:203|iFH &2 3:20.9|H# EE(2) 3:21.7| R IE74(2) 3:30.8|F/ AR BHQ2) 3:32.1|FKk HZQ) 3:32.7|HH #x02) 3:36.3
BRS- KB KiEHI 15 WAVEE =HUa=7 T R —k T R—F WAVEZ I SR L
119 [DESERT s wminca) 3518 ILTEYHTD  3522|hR BREG)  4033|BHE BEO® 4042080 FBQ)  4111|BT 2B  4105\B8 £FOG 422788 £EQ 4306
WAVE E I B @ -l =EBTaz=7 WAVE'E I BREEE WAVE = I KEHITED BBk T - B/
119 [MFAFET sy gm0 s2\fEOGTW) s30T LEW  e%|EH MEW  s¥|ME MW@ es|EEEREG@  es5|WAE W@ s5IME ME@ oo
KiRHIo ;57 ZY—k RigHI15 SRR KiEHI1o RiRHI 15 T ZU—k T R —F
119 [PEFET | nmmpgme) 749|R% WG 756|EHR EG) 828| L% WR#E(5) 87| Tk W) s49|BH MESG  900[FEH &) sleliae mam 917
Kigdd 12 =®Ua=7 BHATIY BT R —k ;o7 R—k AT T XY —k BT R—k
119 [MFOFET \nm s T42|=K BBE)  s05|E& BEE  SIG|ME FLE  810[H BRG  s20lEE B  sw|43 EEE)  es|EY MEE o1
EWATYY1 7 X1)—h T A1) —h EEWATYY1 7 X1)—h EFATYYa 7 A1) —h EWATYY1
119 [FFFET g @0 10445 BB 1201 FEHSYD  1237|M2FBRFG 1243 EESHRD) 1246500 FED)  1300[RE OEFD  1309fFL HAM) 1309
=i =i = wE wE R k-7 i
1/19 ifzﬁt? FHE IDEQ) 11:06|ZE LT EE(2) 1116 TREEQ) 11:24(12  FEEQ) 11:38| &+t #F(2) 11:48|JIIE FK1K(2) 11:59|)I1#% FEIR(2) 12:16(8  Kk#2(2) 12:24
WAVE & il =R nE =R WAVE'E I K FER -3
119 [FFFET \zm e 11|mr BEe  nss|aE wame 1207
k-7 =i e
/19 [OBRAERT |pgp gy VAL 12:36
FE- P mREER BNCTA!-Y




